EARAROBEEIERT — 2 N— IBISH —F

2017878178 (A) 4mEER6H

4R ESSE RN

C2=# %%

‘ [Riz] ¥ ‘ [RERBB] — | & (&) 14000 &

[A~&E£] 17 :200,000  ~ 23&:40,000  ~ 337%:20,000W ~ 43%&:14,000 W ~ 57 :6,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R SR AR 126. - . — FEER (KR)
1155 NIHAFv—L "o 56.0 1(2_6)9 2 %8 2 (5—161) Fol—t-1 7
L:vrsa7oq4 B hoh14RE— ZRE7 7 — L
. B 5 | B 1:27.2 2-2 39.2 — 3 458 | ERAE (KR)
2l7|7|F>17*—7 54.0 (1" 3/4) o) |EBES
L:¥r/07a4 B:YaiE£2-Eq- HEEERS
B 5 | WUABER 1:27.4 5-5 38.8| — 5 510 | =EE& (KiR)
3 4 ZE—F—F1 kK 54.0 (1 1/4) (-4) {EED
R:2RUIYZRIZX B:wihoao-U7 > HE77—L4
= 4 4 | HEE 1:27.7 5-5 39.1| — 4 499 | FEX (KR)
A REERZUSL 5.0 RIS G |EEE
R:dr—3I0)F7> B:N-J K-l AL
. 45 | WIAEEE 1:28.0 1-1 401 — 1 416 | HF=— (KiR)
5 6|11 —> 54.0 (1 3/4) 1) | REHE
X TAANAIN BT LA—T 4 —IN— KBRS
S [ = 4 5 | BN 1:28.2 5-5 39.5| — 8 471 | FEFS= (BER)
61111 L—2Ea1—741 54.0 M +3) *’A/EEES'(—
LT RRAYL—> B:T74—ILRKR=Z—% A =
sy o4 | WOB— 1:28.3 8-8 39.4| — 7 409 | MLER (KIR)
] 2 s |‘_/7'7 54.0 (1/2) (-12) REEZA
L:77NTZT7 B:7O-FL74 K N Chae]
o8 C o7 | At 1:28.6 3-4 40.5| — 6 484 | FiEE= (BERE)
glglg|Yr¥ARYARZb £54.0 (1 1/2) 1) #LAA
R4 xTv— BRVFNILL BhEREMXSHIVET RS
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 6,7,8,5,(1,3,4),2
43—F— 6,(5,7).,8,(1,3,4),2
[ RN
B OB 5 470M 714K 5-7 400M B E 5-7 1,510 &R 4-5-7 3,920
8 B 5 190M 4-5 620 B H &=/ 2,790/ JEH 5-7-4 17,490H
7 1804 4-7 780M
4 260M

ABICOVWTRDTEEERROODE. TR LIV,




